

MANAGEMENT

SPECIFICATIONS

- All models ship assembled.
- Available in Cal-133. Limited option and upholstery selection.
- C.O.M./C.O.V. available. Please refer to page 82.
- Control mechanism is black.
- All models come with 2" (51 mm) hard plastic black dual-wheel casters.

MANAGEMENT CHAIRS SAMPLE ORDER: BR16-E3-AE04-P-NB-HDW-LA

BR16



Standard features
2:1 Synchronous control
2-position back lock
Integrated lumbar support
Rugged outer polymer shell
Waterfall seat front

P: Pneumatic seat height NB: Nylon base HDW: Hard dual-wheel casters LA: Loop arms

Dimensions (in) (mm) **Dimensions** (in) (mm) Seat height 18-22 457-560 Overall height 36 1/4-41 1/4 920-1047 Seat width 20 ½ 520 Overall width 25 635 17 1/4 440 Overall depth 25 635 Seat depth Back height 20 ½ 522 Width between arms 21 530 Back width 18 471

Model	Frame	Upholstery / List (\$)		Cyli	nder (\$)	Base (\$)	Casters	(\$)	Arms (5)	Other options (\$)	
BR16	E3 Black	Grade 1	675	P	Std	NB	Std	HDW	Std	LA	Std	C33	130
		Grade 2	686			SB	62	SDW	26	UA	52	UP	174
		Grade 3	704			PCB	177	BRC	42	UAL	93	UPL ⁽²⁾	227
		Grade 4	743					BGL	31	UDA	98		
		Grade 5	759							UDU ⁽¹⁾	158		
		Grade 6	808										
		Grade 7	1,170										
		Grade 8	855										

BR15



Standard features
2:1 Synchronous control
2-position back lock
Integrated lumbar support
Rugged outer polymer shell
Waterfall seat front

P: Pneumatic seat height
NB: Nylon base

HDW: Hard dual-wheel casters

Dimensions	(in)	(mm)	Dimensions	(in)	(mm)
Seat height	17 1/2-22 1/2	444-571	Overall height	36 1/4-41 1/4	920-1047
Seat width	20 ½	521	Overall width	23 ½	597
Seat depth	16 1/2	419	Overall depth	25	635
Back height	19 ½	495			
Back width	19 ½	495			

Model	Frame	Upholstery / List (\$)		Cylir	nder (\$)	Base (\$)	Casters	(\$)	Other options (\$)	
BR15	E3 Black	Grade 1	635	Р	Std	NB	Std	HDW	Std	C33	130
		Grade 2	647			SB	62	SDW	26	UP	174
		Grade 3	665			PCB	177	BRC	42	UPL ⁽²⁾	227
		Grade 4	703					BGL	31		
		Grade 5	720								
		Grade 6	769								
		Grade 7	1,130								
		Grade 8	815								

- (1) **UDU:** Upholstery will match the seat (N/A in leather).
- (2) UPL: N/A with C33 option.

BR11



Standard teatures	
2:1 Synchronous control	P: Pneumatic seat height
2-position back lock	NB: Nylon base
ntegrated lumbar support	HDW: Hard dual-wheel casters
Rugged outer polymer shell	LA: Loop arms
Natorfall coat front	

Dimensions	(in)	(mm)	Dimensions	(in)	(mm)
Seat height	171/2-221/2	444-571	Overall height	35 1/4-40 1/4	895-1022
Seat width	18	455	Overall width	23 ½	597
Seat depth	16	405	Overall depth	23 ½	597
Back height	19	483	Width between arms	191/2	495
Back width	151/2	398			

Model	Frame	Upholstery / List (\$)		Cylind	Cylinder (\$) Base (\$)		Casters (\$)		Arms (\$)		Other options (\$)		
BR11	E3 Black	Grade 1	635	Р	Std	NB	Std	HDW	Std	LA	Std	C33	130
		Grade 2	647			SB	62	SDW	26	UA	52	UP	174
		Grade 3	665			PCB	177	BRC	42	UAL	93	UPL (2)	227
		Grade 4	703					BGL	31	UDA	98		
		Grade 5	720							UDU (1)	158		
		Grade 6	769										
		Grade 7	1,130										
		Grade 8	815										

BR10



Standard features	
2:1 Synchronous control 2-position back lock Integrated lumbar support Rugged outer polymer shell Waterfall seat front	P: Pneumatic seat height NB: Nylon base HDW: Hard dual-wheel caste

	Dimensions	(in)	(mm)	Dimensions	(in)	(mm)
	Seat height	171/2-221/2	444-571	Overall height	35 1/4-40 1/4	895-1022
	Seat width	181/2	470	Overall width	23 ½	597
	Seat depth	15 ½	394	Overall depth	23 ½	597
	Back height	18 ½	470			
ı	Back width	171/2	445			

Model	Frame	Upholstery / List (\$)		Cylin	der (\$)	Base (\$)	Casters	(\$)	Other options (\$)	
BR10	E3 Black	Grade 1	596	Р	Std	NB	Std	HDW	Std	C33	130
		Grade 2	607			SB	62	SDW	26	UP	174
		Grade 3	625			PCB	177	BRC	42	UPL (2)	227
		Grade 4	664					BGL	31		
		Grade 5	680								
		Grade 6	729								
		Grade 7	1,091								
		Grade 8	776								

⁽¹⁾ UDU: Upholstery will match the seat (N/A in leather).(2) UPL: N/A with C33 option.



GUEST

SPECIFICATIONS

- All models ship assembled.
- All options available in Cal-133. However, Cal-133 guest chairs must have upholstered back panel (UPS option). Limited upholstery selection.
- Fabric/fabric, fabric/vinyl and vinyl/vinyl dual upholstery is available. First upholstery is for the backrest, the second upholstery is for the seat.
- If dual upholstery combination is from two different grades, list price is the highest grade of the two (includes C.O.M. and C.O.V.).
- C.O.M./C.O.V. available. Please refer to page 82.
- When E8 Metallic Silver frame is chosen, all plastic components remain black.
- BR32C guest chair comes with 2" (51 mm) hard plastic black dual-wheel casters.

GUEST CHAIRS WITH WALL-SAVER LEGS

SAMPLE ORDER: BR32-E3-SD10-CPT85-SP

BR32



Standard features
Ships 2 per carton
Integrated lumbar support
Stackable up to 6 high on dolly
Rugged outer polymer shell
Waterfall seat front
Injection-molded fixed arms
1", 14-gauge steel tubing

Dimensions	(in)	(mm)	Dimensions	(in)	(mm)
Seat height	17 3/4	451	Overall height	32¾	832
Seat width	18 ½	470	Overall width	24 3/4	629
Seat depth	18	457	Overall depth	23	584
Back height	14 1/2	368	Width between arms	19	483
Back width	19	483			

Model	Frame	Upholstery / List (\$)		Other options (\$)	
BR32	E3 Black	Grade 1	371 x 2 = 742	C33	130 x 2 = 260
	E8 Metallic Silver	Grade 2	383 x 2 = 766	UPS	$47 \times 2 = 94$
		Grade 3	400 x 2 = 800	ULS (1)	93 x 2 = 186
		Grade 4	$439 \times 2 = 878$	SP	42/chair
		Grade 5	$456 \times 2 = 912$		
		Grade 6	$504 \times 2 = 1,008$		
		Grade 7	$866 \times 2 = 1,732$		
		Grade 8	551 x 2 = 1,102		

BR31



Stand:	and f	~~4	
NIMIN	arn n	miika	н١

Ships 2 per carton Integrated lumbar support Stackable up to 6 high on dolly Rugged outer polymer shell Waterfall seat front 1", 14-gauge steel tubing

Dimensions	(in)	(mm)	Dimensions	(in)	(mm)
Seat height	17 3/4	451	Overall height	323/4	832
Seat width	18 ½	470	Overall width	21	533
Seat depth	18	457	Overall depth	23	584
Back height	14 1/2	368			
Back width	19	483			

Model	Frame	Upholstery / List (\$)		Other options (\$)	
BR31	E3 Black	Grade 1	337 x 2 = 674	C33	130 x 2 = 260
	E8 Metallic Silver	Grade 2	$348 \times 2 = 696$	UPS	$47 \times 2 = 94$
		Grade 3	$367 \times 2 = 734$	ULS (1)	93 x 2 = 186
		Grade 4	405 x 2 = 810	SP	42 /chair
		Grade 5	$422 \times 2 = 844$		
		Grade 6	$470 \times 2 = 940$		
		Grade 7	832 x 2 = 1,664		
		Grade 8	518 x 2 = 1,036		

⁽¹⁾ ULS: N/A with C33 option.

GUEST CHAIRS WITH CASTERS

SAMPLE ORDER: BR32C-E8-CPT85-CPT85-SDW

BR32C



Standard features	
Ships in a single pack	HDW: Hard dual-wheel caste
Integrated lumbar support	
Rugged outer polymer shell	
Waterfall seat front	
Injection-molded fixed arms	

Dimensions	(in)	(mm)	Dimensions	(in)	(mm)
Seat height	17 ¾	451	Overall height	32¾	832
Seat width	18 ½	470	Overall width	24 3/4	629
Seat depth	18	457	Overall depth	23	584
Back height	14 1/2	368	Width between arms	19	483
Back width	19	483			

Model	Frame	Upholstery / List (\$)	Upholstery / List (\$)		(\$)	Other options (\$)	
BR32C	E3 Black	Grade 1	416	HDW	Std	C33	130
	E8 Metallic Silver	Grade 2	427	SDW	26	UPS	47
		Grade 3	445	BRC	42	ULS (1)	93
		Grade 4	484				
		Grade 5	500				
		Grade 6	549				
		Grade 7	911				
		Grade 8	596				

GUEST	r chia	ine w	ити е	ACE

SAMPLE ORDER: BR31S-E3-DN06-DN06-UPS

BR32S



	Sta	and	arc	l fe	atu	res
6					-	

1", 14-gauge steel tubing

Ships in a single pack Integrated lumbar support Rugged outer polymer shell Waterfall seat front Injection-molded fixed arms 1", 14-gauge steel tubing

Dimensions	(in)	(mm)	Dimensions	(in)	(mm)
Seat height	181/4	464	Overall height	33 1/4	845
Seat width	18 ½	470	Overall width	24 3/4	629
Seat depth	18	457	Overall depth	23	584
Back height	14 ½	368	Width between arms	19	483
Back width	19	483			

Model	Frame	Upholstery / List (\$)	Upholstery / List (\$)		Other options (\$)	
BR32S	E3 Black	Grade 1	450	C33	130	
		Grade 2	461	UPS	47	
		Grade 3	479	ULS (1)	93	
		Grade 4	518			
		Grade 5	535			
		Grade 6	582			
		Grade 7	945			
		Grade 8	630			

BR31S



C1	4	featu	
VI2U	narn	TEATH	rec

Ships in a single pack Integrated lumbar support Rugged outer polymer shell Waterfall seat front 1", 14-gauge steel tubing

Dimensions	(in)	(mm)	Dimensions	(in)	(mm)
Seat height	181/4	464	Overall height	33 1/4	845
Seat width	18 ½	470	Overall width	21	533
Seat depth	18	457	Overall depth	23	584
Back height	14 1/2	368			
Back width	19	483			

Model	Frame	Upholstery / List (\$)		Other options (\$)	
BR31S	E3 Black	Grade 1	416	C33	130
		Grade 2	427	UPS	47
		Grade 3	445	ULS (1)	93
		Grade 4	484		
		Grade 5	500		
		Grade 6	549		
		Grade 7	911		
		Grade 8	596		

⁽¹⁾ ULS: N/A with C33 option.



STOOL

SPECIFICATIONS

- All models ship assembled.
- All options available in Cal-133. However, Cal-133 café height stools must have upholstered back panel (UPS option). Limited upholstery selection.
- Fabric/fabric, fabric/vinyl and vinyl/vinyl dual upholstery is available on café height models. First upholstery is for the backrest, the second upholstery is for the seat.
- If dual upholstery combination is from two different grades, list price is the highest grade of the two (includes C.O.M. and C.O.V.).
- C.O.M./C.O.V. available. Please refer to page 82.
- When E8 Metallic Silver frame is chosen on café height stools, all plastic components remain black.
- Control mechanism is black.
- BR51 and BR52 stools comes with 2" (51 mm) hard plastic black dual-wheel casters.

BR51	Standar	d features			Dimer	sions		(in)	(m	m)	Dimensions	(in)	(mm)
	2-position Adjustable Integrated Rugged o Waterfall	ronous control n back lock polished chrome fo d lumbar support uter polymer shel seat front ninum base			Seat he Seat w Seat de Back h Back w	idth epth eight		23 ½-29 18 ½ 15 ½ 17 ½ 17 ½	½ 596 470 394 445 445	ļ	Overall height Overall width Overall depth Width between arms	41 ¼-46 ¼ 23 ½ 23 ½ 19 ½	1047-1174 597 597 495
	Model	Frame	Upholstery / List (\$)		Cylinde	er (\$)	Caster	s (\$)	Arms (\$)	Other options (\$)		
	BR51	E3 Black	Grade 1	815	P	Std	HDW	Std	LA	Std	C33		130
W			Grade 2	827	SCL	78	SDW	26	UA	52	UP		174
			Grade 3	844	XTC	62	BRC	42	UAL	93	UPL (2)		227
			Grade 4	883			BGL	31	UDA	98			
			Grade 5	900					UDU (1)	158			
			Grade 6	948									
			Grade 7	1,310									
			Grade 8	995									

BR52



Standard realdres
2:1 Synchronous control
2-position back lock
Adjustable polished chrome footring
Integrated lumbar support
Rugged outer polymer shell
Waterfall seat front
Cast-aluminum base

P: Pneumatic seat height					
i noamatio ooat noignt					
HDW: Hard dual-wheel casters					

Dimensions	(in)	(mm)	Dimensions	(in)	(mm)
Seat height	23 1/2-29 1/2	596-749	Overall height	41 1/4-46 1/4	1047-1174
Seat width	18 ½	470	Overall width	23 ½	597
Seat depth	151/2	394	Overall depth	23 ½	597
Back height	17 ½	445			
Back width	17 ½	445			
			1		

Model	Frame	Upholstery / List (\$)		Cylinde	er (\$)	Casters	s (\$)	Other options (\$)	
BR52	E3 Black	Grade 1	776	Р	Std	HDW	Std	C33	130
		Grade 2	787	SCL	78	SDW	26	UP	174
		Grade 3	805	XTC	62	BRC	42	UPL (2)	227
		Grade 4	843			BGL	31		
		Grade 5	860						
		Grade 6	909						
		Grade 7	1,271						
		Grade 8	956						

- (1) **UDU:** Upholstery will match the seat (N/A in leather).
- (2) UPL: N/A with C33 option.

CAFÉ HEIGHT STOOLS SAMPLE ORDER: BR32H-E3-DL01-DL01-ULS

BR32H



Standard features	Dimensions	(in)	(mm)	Dimensions	(in)	(mm)
Integrated lumbar support	Seat height	31¾	807	Overall height	47 ¾	1214
Rugged outer polymer shell	Seat width	181/2	470	Overall width	25 1/4	642
Waterfall seat front	Seat depth	18	457	Overall depth	24	610
Injection-molded fixed arms	Back height	14 ½	368	Width between arms	191/4	489
1", 14-gauge steel tubing	Back width	19	483			

Model	Frame	Upholstery / List (\$)		Other options (\$)	
BR32H	E3 Black	Grade 1	450	C33	130
	E8 Metallic Silver	Grade 2	461	UPS	47
		Grade 3	479	ULS (1)	93
		Grade 4	518		
		Grade 5	535		
		Grade 6	582		
		Grade 7	945		
		Grade 8	630		

BR31H



Standard features
Integrated lumbar support
Rugged outer polymer shell
Waterfall seat front
1" 14-gauge steel tuhing

Dimensions	(in)	(mm)	Dimensions	(in)	(mm)
Seat height	31 ¾	807	Overall height	47 3/4	1214
Seat width	18 ½	470	Overall width	21	533
Seat depth	18	457	Overall depth	24	610
Back height	14 ½	368			
Back width	19	483			

Model	Frame	Upholstery / List (\$)		Other options (\$)	
BR31H	E3 Black	Grade 1	444	C33	130
	E8 Metallic Silver	Grade 2	456	UPS	47
		Grade 3	473	ULS (1)	93
		Grade 4	512		
		Grade 5	528		
		Grade 6	577		
		Grade 7	939		
		Grade 8	624		

ACCESSORIES

BRDY



Standard features	
Stacking dolly, black only	
To stack 6 BR32 or 6 BR31 models only	

Dimensions	(in)	(mm)	Overall dimensions of dolly with 6 chairs	(in)	(mm)
Overall height	14 ½	368	Total height	55 ½	1410
Overall width	24	610	Total width w/BR32	25	635
Overall depth	28	711	Total width w/BR31	24	610
			Total depth	36	914

Model	List (\$)	
BRDY-SP	Ships 1 per carton	376
BRDY-DP	Ships 2 per carton	703

BRT-AG



Standard features

Black metal connecting bars Kit includes 2 bars and 2 connectors

Chairs with arms and armless can be ganged (BR32, BR31, BR32S and BR31S) $\,$

	Dimensions	(in)	(mm)	
_	Distance between arms	1/2	13	

Model	List (\$)	
BRT-AG	101	

(1) ULS: N/A with C33 option.